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Information & Communication Technology
Assignment
Class VIII
Time: 1 hour Full marks 25
Section A — 10 marks
1*10=10

What is used in risky works of different mills and factories instead of men in present day?
What is the use of ATM booths of banks?

How many computers can be in a real computer network?

Which device is the most popular device for creating network?

Through which system of mobile phones can government send important announcement
directly to the people?

What is the full form of EPOS?

What is called the technique of connecting computer in different systems?

When was Bangabandhu Satellite sent in the space?

What is the name of the submarine cable which Bangladesh is connected to the outer
world?

10. Which topology is the following figure?
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Section B — 15 marks
5*3=15

What is network topology? Describe bus topology and ring topology.
Write down the changing trends of work place after applying ICT environment.
How does a router work? Describe.






